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PART A — (10 x 1 = 10 marks)
Angwer ALL questions,

Choose the correct answer :

1. Mode used when data to be transmitted is
generated at random intervals

(8) Synchronous
(b) Asynchronous
{e) Duplex

(d) None

Protocol used by public and private networks.

{a) X.20 protocol (b) X.25 protocol

(¢) X.12 protocol (d) X.2 protocol

The adaptive algorithm where only the local

information around the node is used to perform
routing.

(a) Centralized routing

(b) Isolated routing

(c) Distributed routing

(d) None

In MAC sublayer protocol, stations are classified
according to their .
(b) priority
(v) data (d) none

(a) token

No buffers are present in a

(a) Hub (b) Repeater

(c) Bridge (d) Router

The FDDI network can support data at a rate of
(a) 1 Mbps (b) 10 Mbps

(c) 100 Mbps (d) None
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10.

The wireless session protocols currently consist of
services suited for browsing applications known as

(a) WSP (b) WSP/B
(c) WDP (d) None

————— pguarantees continuous service

compared with terrestrial systems.
() Bluetooth (b)
(c) VSAT (d)

infrared

None

Each user in an network is linked

to the central office through a digital pipe.
(a) IDN (b) ISDN

(c) VSAT (d) None

In the datagram header format, the field used for
fragmentation

(a) Version
(b) Identification
{¢) Length
(d) All the above
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12.

18.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Explain about LOS and list the drawbacks.
Or

Mention the concept of hierarchical networks.

Explain Presentation layer.

Or
Explain the implementation of Ethernet.
Mention the functions of MAC and LLC
layers.

Or
Write a note on FDDI network.

Compare ad hoc and infrastructure LANSs.

Or
Compare the VSAT topologies star with mesh
network.
Discuss in detail about ISDN protocol
architecture.

Or
Discuss about ARP.
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PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

16 (&)
(b)
17. (a)
7))

18 (&
(b)

19. (a)

®

Discuss the following with block diagram
(i) Two-wire Open Lines
(ii) Twisted Pair,
Or
Discuss the differences between different
switching methods.
Explain session layer.
Or

Explain Packet layer.

Write briefly about LAN architecture.
Or
Explain in detail about Gigabit Ethernet
protocol architecture.
Explain the architecture of the WAP gateway
Or
Discuss the VSAT technology.
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(a) Explain ISDN lavers

Or

() Discuss the application layer of TCP/IP,
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